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Name: 

Daily Word Problem

answer: ____________________

2 0 0 3 8 6

A-96

Lia is making bracelets.

She has 54 beads.

She puts 10 beads on each bracelet.

How many bracelets can Lia make?
Show your work.



Name: 

Daily Word Problem
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answer: ____________________

A-97

2 0 0 3 8 6

Ara baked 9 cookies on Saturday.

She baked 6 cookies on Sunday.

How many cookies did Ara bake in 
all?

Show your work.
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Daily Word Problem
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answer: ____________________

A-98

2 0 0 3 8 6

Levon had 18 pretzels.

He ate 12 pretzels for snack.

How many pretzels were left?
Show your work.
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Daily Word Problem
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answer: ____________________

A-99

2 0 0 3 8 6

Eva made a key chain.

She used 8 pink beads, 4 yellow 
beads, and 6 green beads.

How many beads did Eva use in all?
Show your work.
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Daily Word Problem
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A-100

answer: ____________________

2 0 0 3 8 6

Sean is counting by tens.

He starts at 22.

He says 22, 42, 52, 62.

What number did Sean skip?
Show your work.



Daily Word Problem

ANSWERSA-96 through A-100
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answer: ____________________

Eva made a key chain.

She used 8 pink beads, 4 yellow 
beads, and 6 green beads.

How many beads did Eva use in all?
Show your work.

answer: ____________________

Levon had 18 pretzels.

He ate 12 pretzels for snack.

How many pretzels were left?
Show your work.

answer: ____________________

Ara baked 9 cookies on Saturday.

She baked 6 cookies on Sunday.

How many cookies did Ara bake in 
all?

Show your work.

answer: ____________________

Lia is making bracelets.

She has 54 beads.

She puts 10 beads on each bracelet.

How many bracelets can Lia make?
Show your work.

answer: ____________________

Sean is counting by tens.

He starts at 22.

He says 22, 42, 52, 62.

What number did Sean skip?
Show your work.

5 bracelets

10, 20, 30, 40, 50

22, 32, 42, 52, 62

15 cookies

9 + 6 = 15

6 pretzels

18 -- 12 = 6

18 beads

8 + 4 + 6 = 18

32


